MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

figam3 e g

1. A PQR f&g 37 QR = Wa fdg D 31 PM

JI



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_u93Lo3TPnxa9

o Watch Video Solution

2. A\ PQR €9 3" QR ¥ My fd¢ D JI PD

J1



https://dl.doubtnut.com/l/_u93Lo3TPnxa9
https://dl.doubtnut.com/l/_m1Zm5de0CBe5

o Watch Video Solution

3. A PQR fég 3A" QR = Wy fdg D JI dt

QM = MR?


https://dl.doubtnut.com/l/_m1Zm5de0CBe5
https://dl.doubtnut.com/l/_M7P2oVvVgTUn

o Watch Video Solution

4. I5 f&d = nigHs et fd39 fi81:- A ABC
feg, BE f8a vfgar J1

o Watch Video Solution



https://dl.doubtnut.com/l/_M7P2oVvVgTUn
https://dl.doubtnut.com/l/_xO6qe5pln5Cl

5. 35 f&d © migH's et fd39 91 A PQR
feg, PQ "3 PR {330 € fidd 89 7al

° Watch Video Solution

6. Jo &5d 2 nioH™s B! f[d39 A8 1:- A XY Z
f€9,Y L f8a firya g 1< gad! a1 €9 J

o Watch Video Solution



https://dl.doubtnut.com/l/_jWVi7bgVpfIP
https://dl.doubtnut.com/l/_5nW1IsaOWuJO

7. {939 g7 3 Uz3® ad fa fiq avdgrt 3gn
feg farya 89 »3 Higer feg It gum™i'3 d AaeT I

o Watch Video Solution

8.J& & fg39 fed nifar™3 97998 d< = @ S
U3t JJ|



https://dl.doubtnut.com/l/_09FvRxEtwU5v
https://dl.doubtnut.com/l/_rVNY0TzwJ3Gg

° Watch Video Solution

9.J& f&d fg3a fed nifam™3 §7998 d< = T HS
3T g4l

l ° Watch Video Solution


https://dl.doubtnut.com/l/_rVNY0TzwJ3Gg
https://dl.doubtnut.com/l/_BpEBHMcDV1hl

10. d& 54 {939 fed nifam3 gaa8 d = T 43
3T g4

30° 40°
(111)

o Watch Video Solution



https://dl.doubtnut.com/l/_BpEBHMcDV1hl
https://dl.doubtnut.com/l/_s5ZxS8xv9bwG

11. I f&d {933 fed nifam™3 7998 3 =z T 43
U3t d3|

o Watch Video Solution

12. I& f&d 939 fed mifar™3 7998 3 = T HS
U3t I3l


https://dl.doubtnut.com/l/_cVfaJ8WtLBgJ
https://dl.doubtnut.com/l/_h7KzRt1Cw2es

50

50°

v

° Watch Video Solution

13. 3> 34 {939 fed mifar™3 §79a8 d< = T HS
3T F4|


https://dl.doubtnut.com/l/_h7KzRt1Cw2es
https://dl.doubtnut.com/l/_cLIBhqRVfHoH

(V1)

o Watch Video Solution

14. Jo 54 939 fed mifdmi3 nieds 3 = @ 43
U3t 3|


https://dl.doubtnut.com/l/_cLIBhqRVfHoH
https://dl.doubtnut.com/l/_zNKCx8Aj3iup

507

1157

(1)

o Watch Video Solution

15. I& &4 o939 €8 mfdmi3 vied® 3 = @ HS
U3t 33|


https://dl.doubtnut.com/l/_zNKCx8Aj3iup
https://dl.doubtnut.com/l/_TtwbAp0dvkBQ

//] 007 iy

o Watch Video Solution

16. 35 &8 {939 feg nfar3 nieas 3 = T 43
U3t J3|


https://dl.doubtnut.com/l/_TtwbAp0dvkBQ
https://dl.doubtnut.com/l/_t7MEjYrRq4ju

125°

X [
(111)

o Watch Video Solution

17. 35 {54 {939 fe8 nifam3 niead 3 = T 43
3T J4|


https://dl.doubtnut.com/l/_t7MEjYrRq4ju
https://dl.doubtnut.com/l/_5QBpYf0Arblo

(iv)

° Watch Video Solution

18. 35 &y f939 feg mfar™3 nied® 3 = T 43
U3t I3l


https://dl.doubtnut.com/l/_5QBpYf0Arblo
https://dl.doubtnut.com/l/_9HiafmNBRXSJ

(V)

o Watch Video Solution

19. 3> f5a 39 fed mifar3 niead8 d< « T HS
3T 4|


https://dl.doubtnut.com/l/_9HiafmNBRXSJ
https://dl.doubtnut.com/l/_80M29CNvl5aO

35°

vi) ?5&7

o Watch Video Solution



https://dl.doubtnut.com/l/_80M29CNvl5aO

20. 35 &y 933 fed mifam3s & & W& U3 a4l

o Watch Video Solution



https://dl.doubtnut.com/l/_lPXePm4b7Z3D

21. J& &y 933 fe8 mifams & & W& U3 a4l

o Watch Video Solution



https://dl.doubtnut.com/l/_pyEFPCh4IB0s

22. 35 89 {939 €8 mifam™3 ¢ T 48 y3T 33|

X

o Watch Video Solution



https://dl.doubtnut.com/l/_XNyUvHfShtag

23.J& 89 fg339 €8 mifam™3 ¢ T 48 y3T 33|

° Watch Video Solution



https://dl.doubtnut.com/l/_a8aP8eyg4Mwl

24. 35 189 {939 €8 mifam™3 ¢ T 48 y3T 33|

o Watch Video Solution



https://dl.doubtnut.com/l/_OtXBVM67itjJ

25. 35 89 fg39 €8 mifam™3 ¢ T 48 y3T 33|

2x

X u
(vi)

o Watch Video Solution

26. 35 5 939 fed mifam3 M3 y T B uzT
adl


https://dl.doubtnut.com/l/_8ZOEqp3Af0sN
https://dl.doubtnut.com/l/_4XcnFymbuVjp

o Watch Video Solution

27.J95 88 fg3a fes mifams e M3 y T B UzT
a3


https://dl.doubtnut.com/l/_4XcnFymbuVjp
https://dl.doubtnut.com/l/_svArA6PndGeF

(11)

o Watch Video Solution

28. 3 59 fg39 fed mifari™s & i3 y T HS U3T
a3l


https://dl.doubtnut.com/l/_svArA6PndGeF
https://dl.doubtnut.com/l/_cRWIGPsJsFQI

50°

YN 60°
(111)

o Watch Video Solution

29. I 59 fg39 fed mifar™3 & i3 y T HS U3T
adl


https://dl.doubtnut.com/l/_cRWIGPsJsFQI
https://dl.doubtnut.com/l/_Oyb1QPmESR1H

(iv) X60°

o Watch Video Solution

30. 395 89 fg39 fed nifam3 2 ni3 y T HB u3"
adl


https://dl.doubtnut.com/l/_Oyb1QPmESR1H
https://dl.doubtnut.com/l/_FeINZqoyZ0dJ

(v)

o Watch Video Solution

31. 35 f5d 939 fed mifam3 2 i3 y T B uzT
adl


https://dl.doubtnut.com/l/_FeINZqoyZ0dJ
https://dl.doubtnut.com/l/_Z1Kmkp7c1qoK

}J‘

v

° Watch Video Solution

X

32, J& {3t Igt grret @ Uy 3 df et 397 Hge

J? (i) 2 AH, 3 AH, 5 AH

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1Kmkp7c1qoK
https://dl.doubtnut.com/l/_ndblNL70xqVW

33. &t {3t It gare’ @ Wy 3 &t et {337 Hse

J? (ii) 3 A, 6 AH, 7 AH

o Watch Video Solution

34, J& {3t Igt grre’ @ Uy 3 df et 397 Age

J? (iii) 6 AH, 3 AH, 2 AH

o Watch Video Solution



https://dl.doubtnut.com/l/_ndblNL70xqVW
https://dl.doubtnut.com/l/_FeqFuZWahM8z
https://dl.doubtnut.com/l/_43k2rOu3XAeJ

35.f337 POR © »ieg adl ffe 0 B<| &l Adt J fa

OP + 0Q > PQ?

/\
P Q

O Watch Video Solution

36. 1337 POR € »igg adl ffe 0 B<| & Adt J fa

OQ + OR > QR?


https://dl.doubtnut.com/l/_8v1xsgCxABEl
https://dl.doubtnut.com/l/_H2SW9SBX4keb

/\
p Q

o Watch Video Solution

37.1337 PQR € nieg d¢t fie 0 S| &t Adt J fa

OR + OP > RP?
R

o Watch Video Solution



https://dl.doubtnut.com/l/_H2SW9SBX4keb
https://dl.doubtnut.com/l/_ryD8AIb9rKwc

38. f3g7 ABC @t ffa Hfgar Am I €7 fa
AB+ BC + CA > 2AM? (
triangle ABM triangle’ AMC & 3aef

gug fegg adl)

° Watch Video Solution



https://dl.doubtnut.com/l/_ryD8AIb9rKwc
https://dl.doubtnut.com/l/_nzBMzNXWCh3h
https://dl.doubtnut.com/l/_cGDgcCqVaMgM

390 ABCcD fa w398 I dl

AB+ BC +CD + DA > AC+ BD?

D C

o Watch Video Solution

40. AMABCD fda 9393d  dI ot

AB+ BC +CD + DA > AC+ BD?


https://dl.doubtnut.com/l/_cGDgcCqVaMgM
https://dl.doubtnut.com/l/_qJd0LrRQTklP

° Watch Video Solution

41. g f3gr €t @ ATl € Y 12 AH »3 15 AX
J1feret St 3 v vy faal @ Wyt @ feg o
gdier 3

° Watch Video Solution



https://dl.doubtnut.com/l/_qJd0LrRQTklP
https://dl.doubtnut.com/l/_ItcHabzuHLjO

42, PQR f¥a {33 J fAe" p i AHAE J1 HAd

PQ=10 HH M3 PR=24 HH 37 QR U3" &J|

° Watch Video Solution

43. ABC g f3gn J famer ¢ g AHdE JIAag

AB=25 AH M3 AC=7 AH 37 BC U3T dJ|

o Watch Video Solution



https://dl.doubtnut.com/l/_3jJ3BA5iyAHg
https://dl.doubtnut.com/l/_uXxol8AbexO2

44.<1eg € AId AT Ud I3 ©dl '3 94 d 15 M.
St f8q U3t gt 3 12 . 8aret 3 Afas fuzdt 39
yJd Aiel J1 €ierg 3 U3t 2 U9 €t gdt u3T dd|

15, 12

ol

o Watch Video Solution



https://dl.doubtnut.com/l/_SyTzDvdLTC91

45. 35 feftmfi &g gamet @ fag3 Aya s Avds
33 g7 AaR IS? :- 2.5 M, 6.5 AH, 6 AH AHAS

{337 J< <1 AfgSt few @A AHdE & &t ufggr|

o Watch Video Solution

46. 35 faftmfi &g gamet @ fag3 Aya s Avds
337 97 AAE T&? :- 2 AH, 2 AH, 5 AH AHAS

{337 J< <1 AfgSt few @A AHdE & &t ufggr|

o Watch Video Solution



https://dl.doubtnut.com/l/_rggbMhtU18f3
https://dl.doubtnut.com/l/_Mat3mAJbd0xW
https://dl.doubtnut.com/l/_6gURkJ9hCcah

47. 35 fafumit fég grare’ @ faald AYg g Avds
39 97 AaE I&? :- 1.5 AH, 2 AH, 2.5 AH AHAS

{337 J< <1 AfgSt few @A AHdE & &t ufggr|

o Watch Video Solution

48. {89 Tdu3 Mt 3 5 Hl. §9mel 3 e ATeT I »i3
grer Bugw' fiar gt & B8R mug 3 12 Ht: €t

€dl '3 AYTH dae’ J1 €943 € Ydt §9met usT dd|

o Watch Video Solution



https://dl.doubtnut.com/l/_6gURkJ9hCcah
https://dl.doubtnut.com/l/_hNClZZYmvTU5
https://dl.doubtnut.com/l/_PiJpR8xqqUxe

49, 337 POR feg dc Q =25° w3 ds
R = 65° JI J& &8 gu& fed faaz Adt 3?7 (i)

PQ* + QR? = RP?

25° 655

o Watch Video Solution

50. 337 PQR feg d= Q =25° "3 d
R = 65° J1 J& &g qus &9 fagz Adt I7 (i)


https://dl.doubtnut.com/l/_PiJpR8xqqUxe
https://dl.doubtnut.com/l/_rkRQ7PhBcyNO

PQ’ + RP® = QR?

° Watch Video Solution

51.13gA POQRfeg A= Q = 25° M3 AT R = 65°
Jdl I5 &8 Tgs fed fagzr mdt I? (i)


https://dl.doubtnut.com/l/_rkRQ7PhBcyNO
https://dl.doubtnut.com/l/_pwsKbA9pffJX

RP? 4+ QR’ = PQ’

o Watch Video Solution

52. f&g mfe3 & Sg7¢t 40 A I M3 EFT f&q
feage 41 A J1 feAe oy U3T 4 |

° Watch Video Solution



https://dl.doubtnut.com/l/_pwsKbA9pffJX
https://dl.doubtnut.com/l/_hHM7z6QvKiNn
https://dl.doubtnut.com/l/_8O4vX6ZY6vtg

53. ¥ AIHT393H < fedd<s 16 A M3 30 AH I&|

forer yfgH™y Y37 991

o Watch Video Solution



https://dl.doubtnut.com/l/_8O4vX6ZY6vtg

